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538 1584 | W& ==& | FIIER 12:41:24 100 kmBFa5~4a95| 114
539 2189 Ay B | EER 5= 12:41:421 100 kmBF55~5 9% 76
540 1535 | x#E HE| LB | mdkEsE [12:42:12]100kmeFas5~4 9| 115
541 1839 | XB E=& | @AE POERTT [12:42:22(100km=F50~54%| 120
542 2248 B ME | GHEE | < /VT7EE |12:42:41100kmEF55~5 9% 17
543 2716 | H&FE XE | KA 12:42:49[ 100 kmEF 7 0L L 4
544 1122 | B E¥ | &HE 12:43:07(100km®EF30~34%| 28
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545 1898 | E# BEH | REKT 12:43:22[100km®EF50~54% 1211
546 2225 B OER LWHE =) 12:43:36|100km®BF55~59%| 18
h47 1725 | &b BT | 3FE | WA+EKE [12:44:07|100kmEFas5~a9| 116
548 1994 | ZHBE RN | &AE 12:44:07|100km=F50~54%| 122
549 1741 | BH EZ | xDE U 12:44:19(100kmeFa5~4 95| 117
550 1223 | FH EX | ER#E 12:44:27(100km®2735~39%| 61
551 1001 Z)Il B2 | dvEE |IDOOK | Ef12:44:32(100 kmBF 2 9LULT 21
552 2191 | 2 B | S8 | F—LRE [12:44:32]100kmex55~59%| 79
553 1219 R BK | ERED LBS 12:44:441 100 kmBF35~3 9% 62
554 1276 | Bl B= | S48 |[sm=2—F7[12:44:46]100kmEF35~39%| 63
555 1964 | #rE Mx | KRG 12:45:50(100kmeFs0~54% 123
556 1233 | Bl Bk | =ERE | KReA4FF [12:45:52|100kmeF35~39% 64
557 1880 | /K B | LBR 12:45:56 100 kmEF50~54%| 124
558 66 K B— | TEER CR. m [12:46:08|100km®EF55~59% 80
559 26 ®BE BE— | TEER CR. m [12:46:08(100kmeFs0~a4| 74
560 1332 | skE 2" | MLUE BAS 12:46:31|100kmEFa0~24%| 75
561 1401 |cuane kene sui|  BHR 12:46:38|100kmEF40~4 4% 76
562 2221 BEH Al TFEE [JILFF7~F|12:46:51100kmeF55~598 81
563 2186 | AT #k | KBRS | ALE®WEE|12:47:29|100kmEF55~59%| 82
564 1676 | & FM | @R 12:47:35(100kmBFa5~49%| 118
565 1376 FIK W TEE 12:47:38|100kmBEF40~4 45 77
566 1251 HE BEA | HME | »21F—& [12:47:40(100kmEF35~39% 65
567 1139 B AE | @R 12:47:43(100km=F30~34%| 29
568 1932 I L | 2ME |mA+H&AT|12:47:48(100kmEF50~54| 125
569 1441 MR 28| FRE 12:47:49(100km®Fa0~44%| 78
570 2524 | Bx #Hk [ BB &7 |12:4755|100kmeF60~64%| 40
571 2231 | &8A #H= | BEE 12:48:15|100km®eF55~598&| 83
572 1157 EE 1y | BFE 12:48:20( 100 kmEF30~3 4% 30
573 1382 | . EiE | FIIE hHEE [12:48:22]100kmBFs0~a4| 79
574 2442 | AR =L | LEE |ZTL 27 ba 124824 100kmEF60~64%| 41
575 1868 | Bt sk | KB |F25>5>C[12:48:29|100kmEF50~545| 126
576 2433 | Al EBEA | RER 12:48:33(100km=2F60~64%| 42
577 1553 | Ml @A | MLE 12:48:36|100km®Fas5~a9| 119
578 2240 | A KE | TWE |F-L/8U<F5|12:48:42 100 kmBEF55~59%| 84
579 1612 |/WER BEZ| FLUE 12:48:48|100kmEF45~a 98| 120
580 1851 | FFEg kK— | duiBE 12:48:49100kmz=F50~54%| 127
581 1696 A R | KBRAT 12:49:02|100kmBFa5~49m| 121
582 1543 | LilE #H— | BEE [N v/$[12:49:03|100kmEFa5~4 9| 122
583 1415 | A% #F | 3528 |~vor~y—][12:49:15(100kmBFa0~44%| 80
584 2606 —= [EF | eFE MEIETT [12:49:18|100kmEF65~6 9% 9
585 1881 | @Il #H= | =% 12:49:18|100kmEF50~54%| 128
586 1695 MEA SR 12:50:01|100kmeF4a5~49m| 123
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588 1631 hE BHRAS B 12:50:27 100 kmEFa5~49| 124
589 2273 WAR BE | WOE |BAERIZE|12:50:55(100kmEF55~5 9% 85
590 1336 | BH [AfE | =AE 12:50:56|100kmBF40~44%| 81
591 1563 | $BH B | BER 12:51:29|100kmEF45~a 98| 125
592 1337 I i |EmEIE 12:561:36|100kmBEF40~4 45 82
593 2618 | 0 Al | EBE | FPLE# [12:51:41|100km=F65~698| 10
594 2495 | Ml 3Ek | @R Kk E [12:51:51(100kmBsF60~64%| 44
595 1232 BE & | ERE 12:52:09(100km®F35~39% 66
596 1340 N KEE | &AE 12:52:12|100kmBF40~4 4% 83
597 2025 |&= [G—EB| @R 12:52:33|100kmBF50~54m| 129
598 1875 |=A&K [—EBR| FNIE | EXIF C [12:52:46 100kmzF50~54| 130
599 2070 | &H fES£ | KR 12:52:58|100kmEF50~54%| 131
600 1603 Bl IBEF | BRE 12:53:10|100kmeBF45~49m| 126
601 2310 | #8 H= | ZWE 12:53:19(100km®=F55~59%| 86
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603 2058 AHHE = | BEE [/Fv =y 7|12:5351100kmEF50~54%| 132
604 1850 | ARt —Z= | =548 |[BEEDFHZR C|12:53:55(100kmeF50~54%| 133
605 1552 L B | FIINE | GUDR |12:53:59|100km®Fa5~490| 127
606 2307 | ik EF= | oAE 12:54:28100km®=F55~598| 87
607 1029 EH BE | ERE 12:54:321 100 kmEF 2 98T 22
608 1645 | & MEk | MLE 12:55:39|100kmEF4a5~a 92| 128
609 2529 WA B | SHE | FAkESK [12:55:41|100kmsFe0~64%| 46
610 1717 T EA | FTER 12:55:45|100kmEF45~4 98| 129
611 2169 | AR R | FER B> r+—X[12:56:14[100kmEF55~59%| 88
612 1517 | Wi H— | EER |sTArEHS[12:56:18|100kmBFa5~49%| 130
613 2404 | mF —E | KRR (v b5y o|12:56:37100kmBF6e0~64%| 47
614 2263 PR x| @8R 12:56:45(100km®=F55~598| 89
615 2308 AR ORBE | ERER 12:57:56]100kmBF55~5 9% 90
616 2004 | 2 FE | LBR 12:58:30|100kmEF50~54%| 134
617 1953 | B fBF | BEE |Lecks 5 7[12:59:44 100 kmEF50~545| 135
618 1835 | N FE | 8AME | Y=Z—~—F[13:00:11|100km=F50~54%| 136
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621 28 A Jah | FINE | F)IRCHE [13:01:13|100kmEF60~64% 48
622 1702 WE F | ZEE 13:01:47|100km®2F4a5~a 98| 131
623 1574 L], Fom xR RRT 13:02:03|100km®BF45~49m| 132
624 2107 | AR BES | BRER [FREER=[13:02:25(100kmEF55~59| 92
625 1564 | mE —# | &R 13:02:28(100km®BFa5~49| 133
626 2267 | HE ®ER | @AR 13:03:17|100km®eF55~598&| 93
627 1151 | BN RE | &HME 13:03:28(100kmz=F30~34| 31
628 1842 | EH BB | LWEE 13:03:37(100kmzEF50~54%| 137
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630 2475 | 'BH BR | EBR [EfEER C[13:04:11l100kmEFe0~64%| 49
631 2281 | EEP E— | EER 13:05:16{100kmz=F55~59%| 95
632 2019 | % H— | MLERE 13:05:51|100kmEF50~54%| 138
633 1685 | B F(T | AR 13:06:05|100kmEF4a5~a 98| 134
634 1962 A & | BEHE 13:06:55|100kmEF50~548| 139
635 2167 | JIlE HE— | MLUE | 778 RC|13:07:02|100kme¥55~59%%| 96
636 1367 | %M EFtk | AR 13:07:09|100kmEF40~a4| 85
637 2493 IR B | BREE SHER R 13:07:37|100km®BEF60~6 41 50
638 2732 | &FE =17 | BMAE 13:07:40(100km®F4a5~492| 135
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651 2218 NE B | LBE 13:11:42|100km®2F55~59%| 98
652 1319 1B SR 13:12:01|100kmEF40~442| 89
653 2113 | fgE {—FE | dvEE 13:12:02|100km®EF55~598&| 99
654 1930 =2H BB | tER 13:12:18|100km®BF50~54m| 143
655 1659 | FEEE —17 | 5B |[#Mtaty—5]13:12:18[100kmEFa5~4 95| 140
656 1338 | B2 M% | 358 |amEstvr 4(13:12:20] 100 kmeFs0~44 90
657 1987 |#HLtR Fiz| =REB 13:12:41 100kmEF50~54%| 144
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660 1282 | KE BE | BEE 13:13:46100km®B735~39%| 68
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664 2472 | IR FE | &AE 13:15:04(100km=F60~64%| 5l
665 2065 I 1B FINE DCM 13:15:06|100km®F50~54m| 147
666 2067 Ik % SRE 13:15:09(100km®=F50~54%%| 148
667 1312 | Mg BR | EAE 13:15:15(100km®BFa0~a4%| 91
668 1622 | &b CERE | BENE | BMERA [13:15:27|100kmEFa5~4 95| 142
669 2505 BE ME| EEE 13:15:50(100kmEF60~6 4% 52
670 2037 i = | AR 7 70O 13:16:03(100kmzEF50~54%| 149
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671 2636 | 1B ®=E | AR 13:16:19|100kmEF6 5~6 95 112
672 2708 | Ll Mz [AER)E| EaFsgaE|13:17:07[100 kmBF 7 0L 5
673 1616 BEH R | @R 13:17:11|100kmz=Fa5~a 98| 143
674 1148 | =l & | 28 [FERREX[13:17:17[100kmsF30~348| 32
675 1708 = OBE | KT [TEAM787[13:17:21|100kmBFa5~a9| 144
676 1818 WHE = | BIXE 13:17:22|100kmEF50~54%| 150
677 1858 | £& IE# | duiBE | HEERIS [13:17:23|100kmEFs0~54| 151
678 2735 | M1 —BEB | BINE SMRC |13:17:30|100km=Fa5~49%| 145
679 1978 BH = | AR 13:17:31|100km®BF50~54m| 152
680 2425 5 T— | 8 13:17:35[100kmEF60~6 4% 53
681 2181 | ¥ =— | @FHE | <v7Y [13:17:36|100kmeFs55~59%| 101
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685 2490 | WA HF— | EER £l 13:18:38|100km®EF60~64| 54
686 98 FL RFE | BHEER 13:18:49|100kmEF4a5~49%| 146
687 1837 | hE #F | ZEE 13:19:06|100kmEF50~54%| 154
688 1641 =)l &7 | 558 MEHEZE [13:19:34|100kmBEF45~4 95 147
689 1838 | lLH EE | =5l |fhBEELAS(13:19:47|100kmEF50~548| 155
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691 1628 | FH HiE | duEE [MEEHA C[13:19:557|100kmeFa5~49%| 148
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695 2168 kH FrE | ZREAS 13:20:20|100km®F55~59| 103
696 2038 = FHFIINE 13:20:34100km®EF50~54| 157
697 2141 EIl FHer | 2ERES 13:20:47(100km®EF55~59%%| 104
698 1396 | K 4§ER | &FE | HEIEIT [13:20:58|100kmBFa0~44m| 94
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707 1848 | ME E= | @B | J ASAME [13:22:59|100kmeF50~54%| 158
708 1540 | XA & | axEe 13:22:59(100kmzEFa5~4 95| 152
709 1910 EE O EC | M8 AHEFEHE [13:22:59|100kmBF50~54%| 159
710 2060 | BHF = | EHE 13:23:08[100kmeFs50~54%[ 160
711 2242 | EH @ [#mRIE[ =FHF [13:23:11|100kmEFs55~59%| 107
712 1504 | o =¥ | mZRE | ZEZ 77 [13:23:19|100kmEFas5~49| 153
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716 1026 | MR —&F% | HHEE 13:24:06(100 kmEBF2 9muUT| 24
717 1035 e =z Entl VAU 13:24:09]1100 kmEF2 9mUTF 25
718 1405 | #&k F | MR 13:24:16|100kmEF40~a 48| 97
719 1519 | mH#F =N | =R BIHEBFH [13:24:30|100km=F4a5~49%| 154
720 2300 Bom R | MLUE | GREL [13:24:36(100kmEF55~59 110
721 2434 Btk #E— | EER [LHHEDOKR|[13:24:37|100kmEF60~6 45 55
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727 1135 | % s | &FE 13:25:26|100km®eF30~34| 35
728 2710 | 588 R | B | FHASEER [13:25:29]100 kmBF7 0L 6
729 2208 B E REKT 13:25:36|100kmEF55~59%| 111
730 2290 | R)Il FH | HEER I JE| 13:25:41[100kmeFs55~509% 112
731 1983 | AR FHt | #HE 13:26:03|100kmBF50~54%| 164
732 2048 | B E— | @R 13:26:12(100kmEF50~54%| 165
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736 1823 =2 AKXk | 2HE | @MBRC |13:26:25|100kmEF50~54%| 168
737 2312 | &ZA E— | 2x8 13:26:28(100km®BF55~59| 113
738 1432 | ®2A #fx | EME 13:26:40|100km®EF40~44%| 98
739 2226 | LB E—EF| =ECHT 13:26:55(100km®EF55~59%| 114
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747 1694 BH X— | FIIE 13:28:01|100km®BF45~4 9 1567
748 1384 | % XE | EER TDJ 13:28:09|100kmEF40~a4| 100
749 77 2l HE | KRF (7 b2 9[13:28:13100kmEFa5~49%| 158
750 2481 'R & | BEE | EhL—3F [13:28:15(100kmzF60~64%| 57
751 1822 |tk4k B B2 | BHL— [13:28:23|100kmsF50~545| 171
752 2412 | ANl HI— [#ER)E NSP 13:28:31(100km®EF60~64%| 58
753 1579 ML GERD | RERIE 13:28:57|100kmeEF45~49| 159
754 2008 NE | BRE MP | 13:29:54(100kmEF50~548| 172
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756 2201 | &K A | AR 13:30:21|100km®=F55~59%| 115
757 2222 | KT #or | RIFRE 13:30:23|100km®EF55~59%| 116
758 2196 = fE | BEE 13:30:38|100kmBF55~59%| 117
759 1204 | RFE HZ |aR/IE 13:30:48[100kmeF35~39% 72
760 2451 | =)l BER | BIR 13:30:54(100km=F60~64%| 59
761 1820 | WA & | @R [F—Lr3585%[13:30:55|100kmEF50~54%| 174
762 2254 | AR B | &HME | :{AEER |13:31:01|100kmsFs55~598| 118
763 2016 FEE Ex | oAE 13:31:01|100km®F50~54m| 175
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767 2408 | #R {ZER | ERER 13:31:56[100kmBEF60~64%| 60
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771 2629 | AR xR | TRE 13:32:14(100km=F65~69 14
772 1606 Ry = HINE 13:32:27|100kmsFa5~49%| 161
773 1959 | 8K #IR |@)IE| AD0L [13:32:32|100kmeF50~54%| 179
774 1140 =2 a8 | KIRAF 13:32:411100km®BF30~34% 36
775 1413 | MH Et | SHE | »21F—& [13:32:44|100kmzFa0~44| 102
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780 2456 Fl 2| EER 13:33:41]100kmBF60~6 4% 61
781 1329 | BE B | #HBE SRC 13:33:47(100kmeFa0~a4%| 104
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791 1905 | AR X4 | @AE | KAHOE [13:34:50|100kmeF50~54%| 180
792 1748 | iy 1ESB | &R 13:35:03(100km®BFa5~49%| 166
793 2525 | HRX B [#HRNNE|F—oTASK|[13:35:09|100km=F60~645| 63
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798 1202 | mH & | FgRE 13:35:44100kmEF35~39%| 79
799 1545 B @Mz | 38 13:35:49100km®BFas5~49%| 167
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